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= 500
= 500
01 AL 2B F S| 1,000 0 1,000
Holls A L HEYE 2E U 2
1,000,000 = 1CH 1,000
= 500
= 500
Hols 2&2E 2 5,100 5,100 0
= 2,550
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A sgI=HH
HE: AYRZS J|S23(SHLLL/5Y - 5E)
e &2 Hols dE - 2Hlls 23 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
o 2,550
202 04| 1,700 1,700 0
= 850
= 850
01 2Ll 1,700 1,700 0
OZEIL T A 04| 100,000 *17JH 2 1,700
=2 850
= 850
301 et A= 3,400 3,400 0
= 1,700
= 1,700
12 J|EtE A3 3,400 3,400 0
OMs 2 Hills XA 2EZ = Ba2
200,000 170 A 3,400
= 1,700
= 1,700
Hols 2Md X 66,000 336,000 A 270,000
= 33,000
= 33,000
301 et A= 66,000 0 66,000
= 33,000
= 33,000
12 JIEtE A= 66,000 0 66,000
Os&s gols 2Md X2 110,000 *600ha 66,000
= 33,000
= 33,000
H Hols 2 bl X (RA) 336,000 0 336,000
301 et A= 336,000 0 336,000
12 JIEtE & =2 336,000 0 336,000
OH dolls &
60,000& *5,600ha*13| 336,000
Wstds 88 J=Xd 180,000 0 180,000
= 90,000
= 90,000
A EAAULA 2H(EX) 180,000 0 180,000
= 90,000
= 90,000
405 XH&HF S HI 180,000 0 180,000
= 90,000
= 90,000
01 XAt E B F S| 180,000 0 180,000
O & 2ela Hdl 22 36,000,000 5= 180,000
= 90,000
= 90,000
ASXH=E SH(sEHHYM/=H - =) 718,409 756, 199 AN 37,790

_38_




sgJlsdH
ASHS SH(SYHYSM/5Y - 5E)
SR HEMA WA A= cet )
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 173,000
s 545,409
A erZ A XA 2 167,709 497,699 A 329,990
< 12,000
s 155,709
ZSAME >0t sUMAR (2 24H]) 72,409 0 72,409
101 14 Hl 72,409 0 72,409
SR R 72,409 0 72,409
ONHsHs A HANEE AREX 2 55,709
—Jlzs 66,8003 x2H x255& 34,068
- =54 66,800 x2H x53= 7,081
—AMIEBEE 170,000& 2 128 4,080
— &0z 500,000& x2H x23| 2,000
— Ol 20,0003 »2H 9 53| 1,800
—52d2RE 66,8003 x2H 502 6,680
OXNgsLsXM MM4NSE 2F LAIAME 2
£ 66,8003 x5 x50 16,700
W R+t sAHMH X& 55,300 247,699 A 192,399
201 £B-2d| 17,300 13,260 4,040
01 At 22l 5,300 2,340 2,960
O0IMEHY I AEIAH M
1,800, 000& * 13| 1,800
O0IME HY| BHeE 2e 2357
200,000& =103l 2,000
O0IME BHA BHFEH MSA Bt &
AtH] 300,000& x5H 1,500
02 =224l 12,000 10,920 1,080
O0IME B Zteldl 3,000,000 x13] 3,000
O0ld= HHeE 23 500,000& 123 6,000
O0lM4Z bt CH  1,500& *4002| &4 *53] 3,000
206 M= Hl 35,000 34,300 700
01 M= 4l 35,000 34,300 700
Olld= HYE -+ 35,000
— 0= MY s 2
,500,000& %103 25,000
— DM =M DI 4,000& *2,5004 10,000
207 O H] 3,000 3,000 0
03 A&l 2 H| 3,000 3,000 0
ONSYSTN ADTE 29
100,000& 308 3,000
XA oHE MAXA 2= 40,000 0 40,000
< 12,000
s 28,000
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AN sg€II=4dH
M ASK2 SN (SEHSLM/SY - 5E)
S EXHA HFEA WA 2= (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
405 XHoHF S HI 40,000 0 40,000
< 12,000
s 28,000
01 AL ESFH S 40,000 0 40,000
OzEZ DlMs Mo 29X 40,000,000 40,000
< 12,000
s 28,000
HUHE MMAIY Jlzs2s N2 130,200 76,500 53,700
A= NMAE JIsEs A& 100,200 25,500 74,700
201 L4l 4,500 4,500 0
01 At 22l 4,500 4,500 0
OASHSR0 228 4% U DENE
150,000& 104 1,500
OAXEXA=SE0F 22, EItsl M= M
10,000& »23| x 150 & 3,000
301 et d = 4,000 4,000 0
09 HALAHIEA S 4,000 4,000 0
ORUTS2OF 5ol Ayl
40,000& x50H 2,000
O&=dY HOts AblE4 2,000,000& =14 2,000
307 21201 A 49,700 17,000 32,700
02 QB AAHEX 49,700 17,000 32,700
O=&& 1= XZJIMu JIgtxd AlE
7,000,000& *341*70/100 14,700
OS2 MHisIt 4 A"
50,000, 000% =14 *70/100 35,000
402 RIZEX20l ™ 42,000 0 42,000
01 RIZt Xt 2 AL E = (REATH &) 42,000 0 42,000
OZJ|l 2ATHEH AlE XI&
60,000,000% =141 x70/100 42,000
I=UHE MASHSZ HEMA A 30,000 51,000 221,000
206 M= Hl 30,000 30,000 0
01 24l 30,000 30,000 0
S2ois 2A=SgH 457 30,000,000& 30,000
S Mll=2sAY XA 420,500 182,000 238,500
< 161,000
s 259,500
ICTOIB AIAE B35 AlY 60,000 98,000 238,000
< 20,000
[ 40,000
307 21201 A 60,000 0 60,000
< 20,000
[ 40,000
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AN seIIsHE

M ASK2 SN (SEHSLM/SY - 5E)
Sl RHNES AIEEIANY N (Se:ae)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 It M AHE L 60,000 0 60,000
Ottsdt*A 258 ANEE HXxH
50,000, 000% *2JH 2~ x60/ 100 60,000
< 20,000
e 40,000
=mI)ls 30l SE&AS ML =4 14,000 0 14,000
< 4,000
s 10,000
307 glz2tol & 14,000 0 14,000
< 4,000
s 10,000
02 IZtE M AHE X 14,000 0 14,000
OfRJIs 0 SE&s Mo =4
20,000,000% *70/100 14,000
< 4,000
s 10,000
dgE =4 U= 43S E= 14,000 0 14,000
< 4,000
s 10,000
307 gl2tol & 14,000 0 14,000
< 4,000
s 10,000
02 IZtE M AHE L 14,000 0 14,000
OdGE Sd |2 MES 22
20,000,000% *70/100 14,000
< 4,000
s 10,000
dIHL A2 1S3HE SHAY 332,500 0 332,500
< 133,000
s 199,500
402 2I2H X201 M 332,500 0 332,500
< 133,000
s 199,500
02 QI 2 A EZ (01X TH ) 332,500 0 332,500
ONEE 38 MAAY
475,000,000 *1JH 2 %70/ 100 332,500
< 133,000
s 199,500
HY I T (=sLI=ME)(IIEH/DIEH) 364,107 339,301 24,806
el 2 88,512 68,037 20,475
ol 2| 88,512 68,037 20,475
101 14l 88,512 68,037 20,475
01 2= 88,512 68,037 20,475
Osgllasdd A2t 22+¢ 88,512




M SYIISHE
M HH2ILH (sLII=4H)(IIEHIIE
chel: ol gyl CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
N2 (2152014)
13,1703 *3H «30Al 2t 128 14,224
~ NEE (215 20/ 4)
10,7513 x2F «30A1 2t+ 128 7,741
— NE & (20&830l0t)
10,0753 x13H «30A| 2t+ 128 47,151
— A 10,989& 1 «30Al 2t 128 3,957
— 2 Bt6s 11,4013 x3H «30A| 2t+ 128 12,314
—d2ZE2 O 8,679 x1H+30AI 2++12& 3,125
Jl2 &3l 275,595 271,264 4,331
Jl2dul(sgll=dH) 191,775 179,824 11,951
201 LB-2d | 190,895 178,384 12,511
01 At 2t 2l 87,511 75,000 12,511
O Iz ANREE 7Y
20,0003 +x34H 128 8,160
OXM SASBX 2
25,0003 +0.68F A*34H 123 6,120
O&=D| 2eltl 65,000 8L 122 6,240
OHItIZEH 22l ¥ =2/Hl 22,0002 «10CH *43| 880
Od 220 45 ¢ /X 22|
22,0003 10CH 43 880
ogabI(¢A) 60,000& 113 6,780
OgaEs #2tl 50,000& 123 600
OW|IXNM 28ME 630,000& 630
OsllsdH Y2=3 S|
8,000 x22H x60 10,560
OMls APRIIDI 29 21,000
—DglH EU(EHM)FY 250,000 *4CH 33 3,000
—ZglH EU(Za)72 300,000 «50H 23 3,000
—Jlsoign =80 U=z
500,000& x1CH+128 6,000
— 2NN S LUz
550,000 x1CH+128 6,600
—sJl=dH AR+l & HHE
200,000& 128 2,400
O&IX & HAES 7¢ 100,000& = 12& 1,200
o&#JIEE #¥ 50,000& x12& 600
Oz 22| 200,000& » 14 200
OBMEZE= 228 s 2 HIE
250,000 »23] 500
O&&4d 2H =+ XMeltl 1,350, 000& *13| 1,350
O&AtZel ®Xldl 10,000, 000& 10,000
OAME4 HIl HE 272 =4&Hl
200,000& 108 2,000
O&EJ|etE 2&e| =2 395,010 »12& 4,741
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AN seIIsHE
H: HH2HAH(SLII=HH)(IIEH/IIE)

ch: JI24dd| (2 &HH)
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o %E& HRE2
ORDIIGHAN %2 950,000 * 13| 950
OAYSZHIUNY 89 242
650,000 23| 1,300
OFA R01HH 29 & 235,000& x12& 2,820
02 E2=2=2%H| 103,384 103,384 0
O&stAMEZ 60,000 14 60
O&IIMNESZ 26,400
— 2B D 2,000,000 ~12& 24,000
— A OFAE D] 200,000& x12& 2,400
O ANE2R22 150,000 x12& 1,800
O HY AIE2223 26,0003 %33 & x12& 936
OXts XA 100,000 «9CH 900
Ot =2 450,000 13| 450
Ossdeldl 400,000 =1 400
OAgotAME 3| 58,000& 1 58
OAl& ZHl KX Y| 30,500
— A AR X 22 10,000,000 10,000
—sEXNE&&H 22| 10,000,000 10,000
— A2 4 HI3 £2ldl 100,000& *10= 1,000
— HAF B2 AS WA 190,000& =504 9,500
OXt2S XYl (9Th) 38,880
- 250 300,000 x9CH x12€ 32,400
— X #=2|H| 60,000& «9U 12& 6,480
OFA X =2 & ™l
3,000,000 *13] 3,000
202 o4 H] 880 1,440 A 560
01 201l 830 1,440 560
Ol B2 SH SAK Ot
20,000 223 x2 ! 880
J2A3H (s=X/GH) 22,860 26,670 N 3,810
202 o4 | 22,860 26,670 N 3,810
01 2Ll 22,860 26,670 N 3,810
OsZENAGLE2F=8 2L HI
20,0003 x6H 9L x12& 12,960
OsENAGLE2F8 22 04|
110,000 »6H 3 x5& 9,900
2 (Esded) 11,430 11,430 0
202 044 11,430 11,430 0
01 2L Y| 11,430 11,430 0
OLUASHYL T BUHOIH|
20,000 »3H 9 x 12 6,480
OolEs~-dEd2 =& 202 |
110,000 x3H 32 x5 4,950
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D sgllsdH

D BYRYAY (SYINE

E1)(JIEH/DIE})

»Jl23l )
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
2l (AsNEEY 7,620 15,240 AT,620
202 O4dl 7,620 15,240 AT,620
01 = LH 4 Hi 7,620 15,240 AT,620
OASNHLRFL 20
20,0003 x2F 0L 128 4,320
OASNHLRFA 2204l
110,000 »2&H «3 53 3,300
[2ZH(sg2AHE) 3,810 0 3,810
202 04l 3,810 0 3,810
01 S LHOYI 3,810 0 3,810
OsglIAE ¢ & 2L Od b
20,000 x1H 92 «12& 2,160
OsglIAE ¢ & 22 of Hl
110,000 »1H «3 53 1,650
234 O0lslged 15,240 15,240 0
202 044l 15,240 15,240 0
01 SLHOIYI 15,240 15,240 0
OJIsgey FE ZHOH
20,000 *4H 92 <123 8,640
OJlsgey F& 220
110,000 x4 H 3 53 6,600
|22 (ssa3gd 11,430 11,430 0
202 oddl 11,430 11,430 0
01 = LH o4 1l 11,430 11,430 0
ASEIYR <L O Bl
20,0003 «3H 92 «12& 6,480
ONSHAYLFH 2201
110,000 x3Z «3 53 4,950
|l2ZH(asd=sgY 11,430 11,430 0
202 O4dl 11,430 11,430 0
01 = LH 4 1i 11,430 11,430 0
OASHSYLE B OIY|
20,0003 *3H 92 «12& 6,480
OASH=YR 22|04l
110,000& x3H 3L +x53 4,950
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